

$$\frac{x \cdot \frac{1}{(x+2)(x+1)} + x \cdot \frac{1}{(x+2)(x+1)}}{\frac{x+2}{1} \cdot \frac{1}{(x+1)(x+2)}} = \frac{3 \cdot \frac{1}{(x+2)(x+1)}}{\frac{x+1}{1} \cdot \frac{1}{1}}$$

Restrictions

$$\begin{array}{l} x+2=0 \quad \text{OR} \quad x+1=0 \\ \underline{-2 \quad -2} \qquad \underline{-1 \quad -1} \\ x=-2 \qquad \qquad x=-1 \end{array}$$

LCD:

$$(x+2)(x+1)$$

$$x(x+1) + x = 3(x+2)$$

$$x^2 + \underbrace{x + x} = 3x + 6$$

$$\begin{array}{r} x^2 + 2x = 3x + 6 \\ \underline{-3x \quad -6} \quad \underline{-3x \quad -6} \\ x^2 - x - 6 = 0 \end{array}$$

Zero Factor Prop.

$$(x+2)(x-3) = 0$$

~~$$\begin{array}{l} x+2=0 \\ \underline{-2 \quad -2} \\ x=-2 \end{array}$$~~

$$\text{OR} \quad x-3=0$$

$$\underline{\quad +3 \quad +3}$$

$$x=3$$